

ABC Bid Data

SUNAPEE 41300 X-A004(589)

PROJECT: **SUNAPEE**

STATE PROJECT NUMBER: 41300

Sullivan

FED. PROJECT NUMBER: X-A004(589)

DATE BIDS OPEN:

October 26, 2017, 2:00

SCOPE OF WORK:

103/100, & 071/087.

COMPLETION DATE: October 19, 2018

LOCATION:

NH 11 over Sugar River- Preservation efforts, Sunapee Br Nos 067/078, 069/079,

Award Date:

Amount: \$1,777,558.15

Awarded To: MILLER CONSTRUCTION,

3103 US RT 5 SOUTH WINDSOR, VT 05089-0086

INC.

Certified by: PETER, E, STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
MILLER CONSTRUCTION, INC. 3103 US RT 5 SOUTH, PO BOX 86, WINDSOR VT 05089-0086	\$1,777,558.15	A
COLD RIVER BRIDGES LLC 10 LANBRO LANE, PO BOX 1076, WALPOLE NH 03608-1076	\$1,858,085.50	В
DANIELS, NEIL H. INC. 4409 ROUTE 5 SOUTH, PO BOX 246, ASCUTNEY VT 05030-0246	\$1,888,120.75	С
BUCK, T. CONSTRUCTION, INC. 302B AUBURN ROAD, TURNER ME 04282	\$2,095,726.00	D

				P	S&E	3103 US	STRUCTION, INC. RT 5 SOUTH VT 05089-0086	10 LAN	R BRIDGES LLC BRO LANE NH 03608-1076
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.7	REMOVAL OF GUARDRAIL	LF	360.00	\$10.00	\$3,600.00	\$4.00	\$1,440.00	\$5.00	\$1,800.00
202.851	REMOVAL OF FLASHING BEACON	U	1.00	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
203.55553	GUARDRAIL EAGRT OFFSET PLATFORM, TL 2	U	3.00	\$1,000.00	\$3,000.00	\$1,500.00	\$4,500.00	\$750.00	\$2,250.00
209.201	GRANULAR BACKFILL (BRIDGE) (F)	CY	2.00	\$30.00	\$60.00	\$250.00	\$500.00	\$225.00	\$450.00
304.301	CRUSHED GRAVEL	CY	18.00	\$30.00	\$540.00	\$75.00	\$1,350.00	\$125.00	\$2,250.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	96.00	\$30.00	\$2,880.00	\$65.00	\$6,240.00	\$100.00	\$9,600.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	782.00	\$100.00	\$78,200.00	\$150.00	\$117,300.00	\$120.00	\$93,840.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	294.00	\$125.00	\$36,750.00	\$165.00	\$48,510.00	\$140.00	\$41,160.00
403.6	PAVEMENT JOINT ADHESIVE	LF	4,951.00	\$1.10	\$5,446.10	\$2.90	\$14,357.90	\$3.00	\$14,853.00
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	925.00	\$1.10	\$1,017.50	\$2.90	\$2,682.50	\$3.00	\$2,775.00
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE	TON	75.00	\$200.00	\$15,000.00	\$300.00	\$22,500.00	\$200.00	\$15,000.00
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	20.00	\$85.00	\$1,700.00	\$220.00	\$4,400.00	\$200.00	\$4,000.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	90.00	\$75.00	\$6,750.00	\$125.00	\$11,250.00	\$200.00	\$18,000.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,020.00	\$5.00	\$5,100.00	\$8.00	\$8,160.00	\$7.00	\$7,140.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	8,280.00	\$35.00	\$289,800.00	\$4.75	\$39,330.00	\$5.00	\$41,400.00
502.101	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$18,000.00	\$18,000.00	\$75,000.00	\$75,000.00	\$120,000.00	\$120,000.00
502.102	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00	\$25,000.00	\$25,000.00
502.103	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$40,837.50	\$40,837.50	\$55,000.00	\$55,000.00	\$80,000.00	\$80,000.00
504.101	COMMON BRIDGE EXCAVATION	CY	4.00	\$15.00	\$60.00	\$100.00	\$400.00	\$100.00	\$400.00
511.00	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	971.00	\$20.00	\$19,420.00	\$23.00	\$22,333.00	\$30.00	\$29,130.00
511.00012	CONCRETE BRIDGE DECK PAVEMENT REMOVAL AND DISPOSAL (ACM) (F)	SY	9.00	\$100.00	\$900.00	\$900.00	\$8,100.00	\$500.00	\$4,500.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	95.00	\$400.00	\$38,000.00	\$300.00	\$28,500.00	\$300.00	\$28,500.00
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	49.00	\$600.00	\$29,400.00	\$500.00	\$24,500.00	\$400.00	\$19,600.00
512.02	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	12.00	\$700.00	\$8,400.00	\$800.00	\$9,600.00	\$1,000.00	\$12,000.00
520.01	CONCRETE CLASS AA	CY	11.00	\$1,200.00	\$13,200.00	\$1,200.00	\$13,200.00	\$1,000.00	\$11,000.00
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	177.00	\$1,400.00	\$247,800.00	\$1,550.00	\$274,350.00	\$1,000.00	\$177,000.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	33.00	\$90.00	\$2,970.00	\$100.00	\$3,300.00	\$115.00	\$3,795.00
538.5	BARRIER MEMBRANE, HEAT WELDED (F)	SY	608.00	\$32.00	\$19,456.00	\$45.00	\$27,360.00	\$42.00	\$25,536.00
540.511	GALVANIC CORROSION PROTECTION SYSTEM (DISTRIBUTED ANODES)	LF	345.00	\$40.00	\$13,800.00	\$35.00	\$12,075.00	\$40.00	\$13,800.00
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	1,405.00	\$40.00	\$56,200.00	\$25.00	\$35,125.00	\$20.00	\$28,100.00
544.	REINFORCING STEEL (F)	LB	19,760.00	\$1.50	\$29,640.00	\$1.35	\$26,676.00	\$2.00	\$39,520.00
550.191	TEMPORARY GIRDER SUPPORT SYSTEM	U	1.00	\$25,000.00	\$25,000.00	\$12,000.00	\$12,000.00	\$7,500.00	\$7,500.00
550.2	BRIDGE SHOES (F)	EA	4.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$1,500.00	\$6,000.00
556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$30,000.00	\$30,000.00	\$52,000.00	\$52,000.00	\$50,000.00	\$50,000.00
556.201	CONTAINMENT AND ENVIRONMENT PROTECTION	U	1.00	\$27,000.00	\$27,000.00	\$18,000.00	\$18,000.00	\$17,000.00	\$17,000.00
556.301	WORKER PROTECTION	U	1.00	\$1,800.00	\$1,800.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
556.401	WASTE MANAGEMENT	U	1.00	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00
562.1	SILICONE JOINT SEALANT (F)	LF	29.00	\$25.00	\$725.00	\$17.00	\$493.00	\$25.00	\$725.00
563.22	BRIDGE RAIL T2	LF	80.00	\$125.00	\$10,000.00	\$129.00	\$10,320.00	\$130.00	\$10,400.00
563.24	BRIDGE RAIL T4	LF	80.00	\$155.00	\$12,400.00	\$188.00	\$15,040.00	\$200.00	\$16,000.00

				F	PS&E	3103 US	STRUCTION, INC. RT 5 SOUTH VT 05089-0086	COLD RIVER BRID GES LLC 10 LANBRO LANE WALPOLE, NH 03608-1076		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
563.3	BRIDGE RAIL T101	LF	201.00	\$138.00	\$27,738.00	\$130.00	\$26,130.00	\$130.00	\$26,130.00	
563.8	RESETTING BRIDGE RAIL	LF	10.00	\$300.00	\$3,000.00	\$75.00	\$750.00	\$100.00	\$1,000.00	
565.222	BRIDGE APPROACH RAIL T2 (STEEL POSTS)	U	2.00	\$6,000.00	\$12,000.00	\$7,750.00	\$15,500.00	\$8,000.00	\$16,000.00	
565.242	BRIDGE APPROACH RAIL T4 (STEEL POSTS)	U	2.00	\$10,000.00	\$20,000.00	\$12,000.00	\$24,000.00	\$11,000.00	\$22,000.00	
565.802	ADJUSTING BRIDGE APPROACH RAIL	U	1.00	\$700.00	\$700.00	\$680.00	\$680.00	\$1,000.00	\$1,000.00	
603.38912	TEMPORARY END SECTION FOR 12" PIPE (CONTRACTORS OPTION)	EA	2.00	\$250.00	\$500.00	\$450.00	\$900.00	\$150.00	\$300.00	
603.99012	12" TEMPORARY DRAINAGE PIPE	LF	100.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00	
604.1549	TEMPORARY CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	2.00	\$2,600.00	\$5,200.00	\$700.00	\$1,400.00	\$2,500.00	\$5,000.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	3.00	\$350.00	\$1,050.00	\$450.00	\$1,350.00	\$500.00	\$1,500.00	
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	100.00	\$45.00	\$4,500.00	\$16.00	\$1,600.00	\$20.00	\$2,000.00	
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	3.00	\$2,000.00	\$6,000.00	\$2,200.00	\$6,600.00	\$2,000.00	\$6,000.00	
606.1285	BEAM GUARDRAIL (BRIDGE APPROACH UNIT)	U	4.00	\$3,500.00	\$14,000.00	\$4,350.00	\$17,400.00	\$4,000.00	\$16,000.00	
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	50.00	\$20.00	\$1,000.00	\$35.00	\$1,750.00	\$30.00	\$1,500.00	
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,066.00	\$30.00	\$31,980.00	\$30.00	\$31,980.00	\$30.00	\$31,980.00	
606.91	RESETTING OR SETTING GUARDRAIL	LF	155.00	\$30.00	\$4,650.00	\$25.00	\$3,875.00	\$40.00	\$6,200.00	
606.9522	TEMP, IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	6.00	\$3,800.00	\$22,800.00	\$2,200.00	\$13,200.00	\$4,000.00	\$24,000.00	
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$5,000.00	\$10,000.00	\$4,000.00	\$8,000.00	\$6,000.00	\$12,000.00	
607.99106	TEMPORARY SELF-SUPPORTING CHAIN LINK FENCE, 6 FEET HIGH	LF	120.00	\$25.00	\$3,000.00	\$15.00	\$1,800.00	\$25.00	\$3,000.00	
608.12	2" BITUMINOUS SIDEWALK (F)	SY	20.00	\$24.00	\$480.00	\$60.00	\$1,200.00	\$100.00	\$2,000.00	
608.24	4" CONCRETE SIDEWALK (F)	SY	27.00	\$50.00	\$1,350.00	\$75.00	\$2,025.00	\$125.00	\$3,375.00	
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	2.00	\$450.00	\$900.00	\$450.00	\$900.00	\$250.00	\$500.00	
609.01	STRAIGHT GRANITE CURB	LF	31.00	\$32.00	\$992.00	\$40.00	\$1,240.00	\$65.00	 	
609.02	CURVED GRANITE CURB	LF	50.00	\$45.00	\$2,250.00	\$40.00	\$2,000.00	\$85.00	\$4,250.00	
609.216	STRAIGHT GRANITE SLOPE CURB 6" HIGH	LF	31.00	\$38.00	\$1,178.00	\$40.00	\$1,240.00	\$35.00		
609.236	CURVED GRANITE SLOPE CURB 6" HIGH	LF	35.00	\$45.00	\$1,575.00	\$40.00	\$1,400.00	\$35.00	\$1,225.00	
609.5	RESET GRANITE CURB	LF	454.00	\$32.00	\$14,528.00	\$20.00	\$9,080.00	\$30.00	\$13,620.00	
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$8,000.00	\$8,000.00	\$42,000.00	\$42,000.00	\$35,000.00	\$35,000.00	
616.172	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$12,000.00	\$12,000.00	\$42,000.00	\$42,000.00	\$50,000.00		
616.201	FLASHING BEACONS	U	1.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$5,000.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	43,000.00	\$1.00	\$43,000.00	\$1.00	\$43,000.00	\$1.00	\$43,000.00	
618.7	FLAGGERS	HR	2,000.00	\$25.00	\$50,000.00	\$28.00	\$56,000.00	\$28.00	\$56,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$60,000.00	\$60,000.00	\$100,000.00	\$100,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,500.00	\$10,000.00	\$3,000.00 \$10.00	\$12,000.00	\$5,000.00		
621,2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA EA	13.00				\$130.00 \$955.00	\$5.00 \$50.00		
621.31 628.2	SINGLE DELINEATOR WITH POST SAWED BITUMINOUS PAVEMENT	LF	19.00 1,197.00		\$1,140.00 \$4,788.00	\$45.00 \$4.00	\$855.00 \$4,788.00	\$50.00		
632,0104	RETROREFLECTIVE PAINT PAVE, MARKING, 4" LINE	LF	5,755.00	<u> </u>	\$4,788.00 \$8,632.50	\$4.00 \$0.55	\$4,788.00 \$3,165.25	\$3.00		
632,1104	PREFORMED RETROREFLECTIVE TAPE. TYPE I	LF	8,630.00		·	\$0.55		\$0.50	 	
	(REMOVABLE) 4" LINE	LF			\$21,575.00		\$15,102.50			
632,1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE		207.00		\$1,656.00		\$1,449.00	\$10.00	Ì	
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	294,00	\$10.00	\$2,940.00	\$6.00	\$1,764.00	\$4.00	\$1,176.00	

			PS&E		3103 US	STRUCTION, INC. RT 5 SOUTH VT 05089-0086	COLD RIVER BRIDGES LLC 10 LANBRO LANE WALPOLE, NH 03608-1076		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	108.00	\$25.00	\$2,700.00	\$12.00	\$1,296.00	\$25.00	\$2,700.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	230.00	\$1.00	\$230.00	\$4.00	\$920.00	\$10.00	\$2,300.00
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	1,796.00	\$3.00	\$5,388.00	\$1.00	\$1,796.00	\$2.00	\$3,592.00
647.1	HUMUS	CY	176.00	\$30.00	\$5,280.00	\$25.00	\$4,400.00	\$50.00	\$8,800.00
670.04501	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$3,720.00	\$3,720.00	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00
670.04502	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$15,444.50	\$15,444.50	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00
670.04503	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	6.00	\$2,400.00	\$14,400.00	\$3,500.00	\$21,000.00	\$3,000.00	\$18,000.00
692.	MOBILIZATION	U	1.00	\$129,000.00	\$129,000.00	\$125,000.00	\$125,000.00	\$155,000.00	\$155,000.00
698.13	FIELD OFFICE TYPE C	MON	10.00	\$1,500.00	\$15,000.00	\$1,600.00	\$16,000.00	\$2,000.00	\$20,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
	_		Totals:	\$1,759,395.10			\$1,777,558.15	\$1,858,085.50	

Totals:

\$1,759,395.10

\$1,777,558.15

\$1,858,085.50

				F	°S&E	4409 ROL	, NEIL H. INC. ITE 5 SOUTH , VT 05030-0246	302B AU	STRUCTION, INC. BURN ROAD R, ME 04282
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202,7	REMOVAL OF GUARDRAIL	LF	360,00	\$10.00	\$3,600.00	\$5.00	\$1,800.00	\$3.00	\$1,080.00
	REMOVAL OF FLASHING BEACON	U	+	\$10.000.00	\$10.000.00			\$1,500.00	
202.851	GUARDRAIL EAGRT OFFSET PLATFORM, TL 2	U	1.00	,	ν,	\$1,000.00	\$1,000.00		\$1,500.00
	· · · · · · · · · · · · · · · · · · ·	CY	3.00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00	\$2,300.00	\$6,900.00
209.201	GRANULAR BACKFILL (BRIDGE) (F)		2.00	\$30.00	\$60.00	\$100.00	\$200.00	\$150.00	\$300.00
304.301	CRUSHED GRAVEL	CY	18.00	\$30.00	\$540.00	\$100.00	\$1,800.00	\$60.00	\$1,080.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	96.00	\$30.00	\$2,880.00	\$100.00	\$9,600.00	\$65.00	\$6,240.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	782.00	\$100.00	\$78,200.00	\$115.00	\$89,930.00	\$99.00	\$77,418.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	294.00	\$125.00	\$36,750.00	\$150.00	\$44,100.00	\$135.00	\$39,690.00
403.6	PAVEMENT JOINT ADHESIVE	LF	4,951.00	\$1.10	\$5,446.10	\$2.00	\$9,902.00	\$2.00	\$9,902.00
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	925.00	\$1.10	\$1,017.50	\$5.50	\$5,087.50	\$6.00	\$5,550.00
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE	TON	75.00	\$200.00	\$15,000.00	\$300.00	\$22,500.00	\$275.00	\$20,625.00
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	20.00	\$85.00	\$1,700.00	\$300.00	\$6,000.00	\$250.00	\$5,000.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	90.00	\$75.00	\$6,750.00	\$200.00	\$18,000.00	\$250.00	\$22,500.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,020.00	\$5.00	\$5,100.00	\$8.00	\$8,160.00	\$7.50	\$7,650.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	8,280.00	\$35.00	\$289,800.00	\$4.25	\$35,190.00	\$4.00	\$33,120.00
502.101	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$18,000.00	\$18,000.00	\$200,000.00	\$200,000.00	\$75,000.00	\$75,000.00
502,102	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$75,000.00	\$75,000.00
502.103	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$40,837.50	\$40,837.50	\$100,000.00	\$100,000.00	\$75,000.00	\$75,000.00
504.101	COMMON BRIDGE EXCAVATION	CY	4.00	\$15.00	\$60.00	\$100.00	\$400.00	\$150.00	\$600.00
511.00	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	971.00	\$20.00	\$19,420.00	\$20.00	\$19,420.00	\$17.00	\$16,507.00
511.00012	CONCRETE BRIDGE DECK PAVEMENT REMOVAL AND DISPOSAL (ACM) (F)	SY	9.00	\$100.00	\$900.00	\$500.00	\$4,500.00	\$2,500.00	\$22,500.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	95.00	\$400.00	\$38,000.00	\$250.00	\$23,750.00	\$540.00	\$51,300.00
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	49.00	\$600.00	\$29,400.00	\$500.00	\$24,500.00	\$600.00	\$29,400.00
512.02	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	12.00	\$700.00	\$8,400.00	\$850.00	\$10,200.00	\$620.00	\$7,440.00
520.01	CONCRETE CLASS AA	CY	11.00	\$1,200.00	\$13,200.00	\$1,000.00	\$11,000.00	\$1,900.00	\$20,900.00
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	177.00	\$1,400.00	\$247,800.00	\$1,000.00	\$177,000.00	\$1,250.00	\$221,250.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	33.00	\$90.00	\$2,970.00	\$100.00	\$3,300.00	\$75.00	\$2,475.00
538.5	BARRIER MEMBRANE, HEAT WELDED (F)	SY	608.00	\$32.00	\$19,456.00	\$48.00	\$29,184.00	\$45.00	\$27,360.00
540.511	GALVANIC CORROSION PROTECTION SYSTEM (DISTRIBUTED ANODES)	LF	345.00	\$40.00	\$13,800.00	\$50.00	\$17,250.00	\$42.00	\$14,490.00
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	1,405.00	\$40.00	\$56,200.00	\$40.00	\$56,200.00	\$34.00	\$47,770.00
544.	REINFORCING STEEL (F)	LB	19,760.00	\$1.50	\$29,640.00	\$1.50	\$29,640.00	\$1.25	\$24,700.00
550.191	TEMPORARY GIRDER SUPPORT SYSTEM	U	1.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00	\$50,000.00	\$50,000.00
550.2	BRIDGE SHOES (F)	EA	4.00	\$500.00	\$2,000.00	\$350.00	\$1,400.00	\$2,500.00	\$10,000.00
556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$30,000.00	\$30,000.00	\$56,500.00	\$56,500.00	\$65,000.00	\$65,000.00
556,201	CONTAINMENT AND ENVIRONMENT PROTECTION	U	1,00	\$27,000.00	\$27,000.00	\$19,300.00	\$19,300.00	\$20,000.00	\$20,000.00
556,301	WORKER PROTECTION	U	1,00	\$1,800.00	\$1,800.00	\$4,600.00	\$4,600.00	\$10,000.00	\$10,000.00
556,401	WASTE MANAGEMENT	U	1,00	\$1,200.00	\$1,200.00	\$2,300.00	\$2,300.00	\$10,000.00	\$10,000.00
562.1	SILICONE JOINT SEALANT (F)	LF	29.00	\$25.00	\$725.00	\$50.00	\$1,450.00	\$15.00	\$435.00
563,22	BRIDGE RAIL T2	LF	80.00	\$125.00	\$10,000.00	\$140.00	\$11,200.00	\$125.00	\$10,000.00
		I	00.00	₩ 1 <u>2</u> 0.00	\$10,000.00	\$1,10.00	\$11,200.00	\$ 120.00	\$ 10,000.00

				F	PS&E	4409 RO	, NEIL H. INC. JTE 5 SOUTH , VT 05030-0246	BUCK, T. CONSTRUCTION, INC. 3028 AUBURN ROAD TURNER, ME 04282		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
563.3	BRIDGE RAIL T101	LF	201.00	\$138.00	\$27,738.00	\$145.00	\$29,145.00	\$125.00	\$25,125.00	
563.8	RESETTING BRIDGE RAIL	LF	10.00	\$300.00	\$3,000.00	\$75.00	\$750.00	\$75.00	\$750.00	
565.222	BRIDGE APPROACH RAIL T2 (STEEL POSTS)	U	2.00	\$6,000.00	\$12,000.00	\$8,350.00	\$16,700.00	\$8,000.00	\$16,000.00	
565.242	BRIDGE APPROACH RAIL T4 (STEEL POSTS)	U	2.00	\$10,000.00	\$20,000.00	\$13,000.00	\$26,000.00	\$12,000.00	\$24,000.00	
565.802	ADJUSTING BRIDGE APPROACH RAIL	U	1.00	\$700.00	\$700.00	\$750.00	\$750.00	\$675.00	\$675.00	
603.38912	TEMPORARY END SECTION FOR 12" PIPE (CONTRACTORS OPTION)	EA	2.00	\$250.00	\$500.00	\$200.00	\$400.00	\$500.00	\$1,000.00	
603.99012	12" TEMPORARY DRAINAGE PIPE	LF	100.00	\$50.00	\$5,000.00	\$40.00	\$4,000.00	\$90.00	\$9,000.00	
604.1549	TEMPORARY CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	2.00	\$2,600.00	\$5,200.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	3.00	\$350.00	\$1,050.00	\$500.00	\$1,500.00	\$1,000.00	\$3,000.00	
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	100.00	\$45.00	\$4,500.00	\$18.00	\$1,800.00	\$15.00	\$1,500.00	
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	3.00	\$2,000.00	\$6,000.00	\$2,350.00	\$7,050.00	\$2,100.00	\$6,300.00	
606.1285	BEAM GUARDRAIL (BRIDGE APPROACH UNIT)	U	4.00	\$3,500.00	\$14,000.00	\$4,650.00	\$18,600.00	\$4,100.00	\$16,400.00	
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	50.00	\$20.00	\$1,000.00	\$30.00	\$1,500.00	\$25.00	\$1,250.00	
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,066.00	\$30.00	\$31,980.00	\$35.00	\$37,310.00	\$43.00	\$45,838.00	
606.91	RESETTING OR SETTING GUARDRAIL	LF	155.00	\$30.00	\$4,650.00	\$25.00	\$3,875.00	\$20.00	\$3,100.00	
606.9522	TEMP, IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	6.00	\$3,800.00	\$22,800.00	\$3,500.00	\$21,000.00	\$3,500.00	\$21,000.00	
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$5,000.00	\$10,000.00	\$4,500.00	\$9,000.00	\$4,500.00	\$9,000.00	
607.99106	TEMPORARY SELF-SUPPORTING CHAIN LINK FENCE, 6 FEET HIGH	LF	120.00	\$25.00	\$3,000.00	\$25.00	\$3,000.00	\$30.00	\$3,600.00	
608.12	2" BITUMINOUS SIDEWALK (F)	SY	20.00	\$24.00	\$480.00	\$45.00	\$900.00	\$140.00	\$2,800.00	
608.24	4" CONCRETE SIDEWALK (F)	SY	27.00	\$50.00	\$1,350.00	\$75.00	\$2,025.00	\$175.00	\$4,725.00	
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	2.00	\$450.00	\$900.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	
609.01	STRAIGHT GRANITE CURB	LF	31.00	\$32.00	\$992.00	\$50.00	\$1,550.00	\$40.00	\$1,240.00	
609.02	CURVED GRANITE CURB	LF	50.00	\$45.00	\$2,250.00	\$50.00	\$2,500.00	\$42.00	\$2,100.00	
609.216	STRAIGHT GRANITE SLOPE CURB 6" HIGH	LF	31.00	\$38.00	\$1,178.00	\$50.00	\$1,550.00	\$43.00	\$1,333.00	
609.236	CURVED GRANITE SLOPE CURB 6" HIGH	LF	35.00	\$45.00	\$1,575.00	\$50.00	\$1,750.00	\$47.00	\$1,645.00	
609.5	RESET GRANITE CURB	LF	454.00	\$32.00	\$14,528.00	\$25.00	\$11,350.00	\$23.00	\$10,442.00	
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$8,000.00	\$8,000.00	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	
616.172	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$12,000.00	\$12,000.00	\$70,000.00	\$70,000.00	\$75,000.00	\$75,000.00	
616.201	FLASHING BEACONS	U	1.00	\$2,000.00	\$2,000.00	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	43,000.00	\$1.00	\$43,000.00	\$1.00	\$43,000.00	\$1.00	\$43,000.00	
618.7	FLAGGERS	HR	2,000.00	\$25.00	\$50,000.00	\$25.00	\$50,000.00	\$25.00	\$50,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN		4.00	\$2,500.00	\$10,000.00	\$4,000.00	\$16,000.00	\$7,500.00	\$30,000.00	
621,2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA EA	13.00			<u> </u>		\$5.00 \$40.00		
621.31 628.2	SINGLE DELINEATOR WITH POST SAWED BITUMINOUS PAVEMENT	LF	19.00 1,197.00		\$1,140.00 \$4,788.00		\$855.00	\$40.00	\$4,788.00	
632,0104	RETROREFLECTIVE PAINT PAVE, MARKING, 4" LINE	LF	5,755.00	<u> </u>	\$4,788.00 \$8,632.50	<u> </u>		\$4.00	\$4,788.00 \$2,877.50	
632,0104	PREFORMED RETROREFLECTIVE TAPE. TYPE I	LF	8,630.00		·			\$0.50		
	(REMOVABLE) 4" LINE	LF			\$21,575.00		\$17,260.00 \$1,553.50			
632,1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE		207.00		\$1,656.00			\$5.00		
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	294.00	\$10.00	\$2,940.00	\$5.00	\$1,470.00	\$4.00	\$1,176.00	

			PS&E		4409 ROI	, NEIL H. INC. JTE 5 SOUTH , VT 05030-0246	BUCK, T. CONSTRUCTION, INC. 3028 AUBURN ROAD TURNER, ME 04282		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	108.00	\$25.00	\$2,700.00	\$15.00	\$1,620.00	\$10.00	\$1,080.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	230.00	\$1.00	\$230.00	\$5.00	\$1,150.00	\$3.00	\$690.00
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	1,796.00	\$3.00	\$5,388.00	\$2.00	\$3,592.00	\$2.50	\$4,490.00
647.1	HUMUS	CY	176.00	\$30.00	\$5,280.00	\$40.00	\$7,040.00	\$45.00	\$7,920.00
670.04501	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$3,720.00	\$3,720.00	\$10,000.00	\$10,000.00	\$40,000.00	\$40,000.00
670.04502	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$15,444.50	\$15,444.50	\$10,000.00	\$10,000.00	\$40,000.00	\$40,000.00
670.04503	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	6.00	\$2,400.00	\$14,400.00	\$2,000.00	\$12,000.00	\$3,500.00	\$21,000.00
692.	MOBILIZATION	U	1.00	\$129,000.00	\$129,000.00	\$132,000.00	\$132,000.00	\$191,631.50	\$191,631.50
698.13	FIELD OFFICE TYPE C	MON	10.00	\$1,500.00	\$15,000.00	\$3,000.00	\$30,000.00	\$1,000.00	\$10,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
			Totals:		\$1,759,395.10		\$1,888,120.75		\$2,095,726.00

Totals:

\$1,759,395.10

\$1,888,120.75

\$2,095,726.00



PS&E Comparison

SUNAPEE 41300 X-A004(589)

				A-Bide	der	PS8	kΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	360.00	\$4.00	\$1,440.00	\$10.00	\$3,600.00	(\$2,160.00)
202.851	REMOVAL OF FLASHING BEACON	U	1.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	(\$7,500.00)
203.55553	GUARDRAIL EAGRT OFFSET PLATFORM, TL 2	U	3.00	\$1,500.00	\$4,500.00	\$1,000.00	\$3,000.00	\$1,500.00
209.201	GRANULAR BACKFILL (BRIDGE) (F)	CY	2.00	\$250.00	\$500.00	\$30.00	\$60.00	\$440.00
304.301	CRUSHED GRAVEL	CY	18.00	\$75.00	\$1,350.00	\$30.00	\$540.00	\$810.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	96.00	\$65.00	\$6,240.00	\$30.00	\$2,880.00	\$3,360.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	782.00	\$150.00	\$117,300.00	\$100.00	\$78,200.00	\$39,100.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	294.00	\$165.00	\$48,510.00	\$125.00	\$36,750.00	\$11,760.00
403.6	PAVEMENT JOINT ADHESIVE	LF	4,951.00	\$2.90	\$14,357.90	\$1.10	\$5,446.10	\$8,911.80
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	925.00	\$2.90	\$2,682.50	\$1.10	\$1,017.50	\$1,665.00
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE	TON	75.00	\$300.00	\$22,500.00	\$200.00	\$15,000.00	\$7,500.00
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	20.00	\$220.00	\$4,400.00	\$85.00	\$1,700.00	\$2,700.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	90.00	\$125.00	\$11,250.00	\$75.00	\$6,750.00	\$4,500.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,020.00	\$8.00	\$8,160.00	\$5.00	\$5,100.00	\$3,060.00

417.	COLD PLANING BITUMINOUS SURFACES	SY	8,280.00	\$4.75	\$39,330.00	\$35.00	\$289,800.00	(\$250,470.00)
502.101	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$75,000.00	\$75,000.00	\$18,000.00	\$18,000.00	\$57,000.00
502.102	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00	\$7,000.00
502.103	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$55,000.00	\$55,000.00	\$40,837.50	\$40,837.50	\$14,162.50
504.101	COMMON BRIDGE EXCAVATION	CY	4.00	\$100.00	\$400.00	\$15.00	\$60.00	\$340.00
511.00	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	971.00	\$23.00	\$22,333.00	\$20.00	\$19,420.00	\$2,913.00
511.00012	CONCRETE BRIDGE DECK PAVEMENT REMOVAL AND DISPOSAL (ACM) (F)	SY	9.00	\$900.00	\$8,100.00	\$100.00	\$900.00	\$7,200.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	95.00	\$300.00	\$28,500.00	\$400.00	\$38,000.00	(\$9,500.00)
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	49.00	\$500.00	\$24,500.00	\$600.00	\$29,400.00	(\$4,900.00)
512.02	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	12.00	\$800.00	\$9,600.00	\$700.00	\$8,400.00	\$1,200.00
520.01	CONCRETE CLASS AA	CY	11.00	\$1,200.00	\$13,200.00	\$1,200.00	\$13,200.00	\$0.00
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	177.00	\$1,550.00	\$274,350.00	\$1,400.00	\$247,800.00	\$26,550.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	33.00	\$100.00	\$3,300.00	\$90.00	\$2,970.00	\$330.00
538.5	BARRIER MEMBRANE, HEAT WELDED (F)	SY	608.00	\$45.00	\$27,360.00	\$32.00	\$19,456.00	\$7,904.00
540.511	GALVANIC CORROSION PROTECTION SYSTEM (DISTRIBUTED ANODES)	LF	345.00	\$35.00	\$12,075.00	\$40.00	\$13,800.00	(\$1,725.00)
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	1,405.00	\$25.00	\$35,125.00	\$40.00	\$56,200.00	(\$21,075.00)
544.	REINFORCING STEEL (F)	LB	19,760.00	\$1.35	\$26,676.00	\$1.50	\$29,640.00	(\$2,964.00)
550.191	TEMPORARY GIRDER SUPPORT SYSTEM	U	1.00	\$12,000.00	\$12,000.00	\$25,000.00	\$25,000.00	(\$13,000.00)
550.2	BRIDGE SHOES (F)	EA	4.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$0.00
556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$52,000.00	\$52,000.00	\$30,000.00	\$30,000.00	\$22,000.00
556.201	CONTAINMENT AND ENVIRONMENT PROTECTION	U	1.00	\$18,000.00	\$18,000.00	\$27,000.00	\$27,000.00	(\$9,000.00)
556.301	WORKER PROTECTION	U	1.00	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00	\$3,200.00

Friday, October 27, 2017 Page 9 of 12

556.401	WASTE MANAGEMENT	U	1.00	\$2,500.00	\$2,500.00	\$1,200.00	\$1,200.00	\$1,300.00
562.1	SILICONE JOINT SEALANT (F)	LF	29.00	\$17.00	\$493.00	\$25.00	\$725.00	(\$232.00)
563.22	BRIDGE RAIL T2	LF	80.00	\$129.00	\$10,320.00	\$125.00	\$10,000.00	\$320.00
563.24	BRIDGE RAIL T4	LF	80.00	\$188.00	\$15,040.00	\$155.00	\$12,400.00	\$2,640.00
563.3	BRIDGE RAIL T101	LF	201.00	\$130.00	\$26,130.00	\$138.00	\$27,738.00	(\$1,608.00)
563.8	RESETTING BRIDGE RAIL	LF	10.00	\$75.00	\$750.00	\$300.00	\$3,000.00	(\$2,250.00)
565.222	BRIDGE APPROACH RAIL T2 (STEEL POSTS)	U	2.00	\$7,750.00	\$15,500.00	\$6,000.00	\$12,000.00	\$3,500.00
565.242	BRIDGE APPROACH RAIL T4 (STEEL POSTS)	U	2.00	\$12,000.00	\$24,000.00	\$10,000.00	\$20,000.00	\$4,000.00
565.802	ADJUSTING BRIDGE APPROACH RAIL	U	1.00	\$680.00	\$680.00	\$700.00	\$700.00	(\$20.00)
603.38912	TEMPORARY END SECTION FOR 12" PIPE (CONTRACTORS OPTION)	EA	2.00	\$450.00	\$900.00	\$250.00	\$500.00	\$400.00
603.99012	12" TEMPORARY DRAINAGE PIPE	LF	100.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$0.00
604.1549	TEMPORARY CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	2.00	\$700.00	\$1,400.00	\$2,600.00	\$5,200.00	(\$3,800.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	3.00	\$450.00	\$1,350.00	\$350.00	\$1,050.00	\$300.00
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	100.00	\$16.00	\$1,600.00	\$45.00	\$4,500.00	(\$2,900.00)
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	3.00	\$2,200.00	\$6,600.00	\$2,000.00	\$6,000.00	\$600.00
606.1285	BEAM GUARDRAIL (BRIDGE APPROACH UNIT)	U	4.00	\$4,350.00	\$17,400.00	\$3,500.00	\$14,000.00	\$3,400.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	50.00	\$35.00	\$1,750.00	\$20.00	\$1,000.00	\$750.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,066.00	\$30.00	\$31,980.00	\$30.00	\$31,980.00	\$0.00
606.91	RESETTING OR SETTING GUARDRAIL	LF	155.00	\$25.00	\$3,875.00	\$30.00	\$4,650.00	(\$775.00)
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	6.00	\$2,200.00	\$13,200.00	\$3,800.00	\$22,800.00	(\$9,600.00)
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$4,000.00	\$8,000.00	\$5,000.00	\$10,000.00	(\$2,000.00)
607.99106	TEMPORARY SELF-SUPPORTING CHAIN LINK FENCE, 6 FEET HIGH	LF	120.00	\$15.00	\$1,800.00	\$25.00	\$3,000.00	(\$1,200.00)

Friday, October 27, 2017 Page 10 of 12

608.12	2" BITUMINOUS SIDEWALK (F)	SY	20.00	\$60.00	\$1,200.00	\$24.00	\$480.00	\$720.00
608.24	4" CONCRETE SIDEWALK (F)	SY	27.00	\$75.00	\$2,025.00	\$50.00	\$1,350.00	\$675.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	2.00	\$450.00	\$900.00	\$450.00	\$900.00	\$0.00
609.01	STRAIGHT GRANITE CURB	LF	31.00	\$40.00	\$1,240.00	\$32.00	\$992.00	\$248.00
609.02	CURVED GRANITE CURB	LF	50.00	\$40.00	\$2,000.00	\$45.00	\$2,250.00	(\$250.00)
609.216	STRAIGHT GRANITE SLOPE CURB 6" HIGH	LF	31.00	\$40.00	\$1,240.00	\$38.00	\$1,178.00	\$62.00
609.236	CURVED GRANITE SLOPE CURB 6" HIGH	LF	35.00	\$40.00	\$1,400.00	\$45.00	\$1,575.00	(\$175.00)
609.5	RESET GRANITE CURB	LF	454.00	\$20.00	\$9,080.00	\$32.00	\$14,528.00	(\$5,448.00)
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$42,000.00	\$42,000.00	\$8,000.00	\$8,000.00	\$34,000.00
616.172	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$42,000.00	\$42,000.00	\$12,000.00	\$12,000.00	\$30,000.00
616.201	FLASHING BEACONS	U	1.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$3,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	43,000.00	\$1.00	\$43,000.00	\$1.00	\$43,000.00	\$0.00
618.7	FLAGGERS	HR	2,000.00	\$28.00	\$56,000.00	\$25.00	\$50,000.00	\$6,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$60,000.00	\$60,000.00	\$10,000.00	\$10,000.00	\$50,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,000.00	\$12,000.00	\$2,500.00	\$10,000.00	\$2,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	13.00	\$10.00	\$130.00	\$6.00	\$78.00	\$52.00
621.31	SINGLE DELINEATOR WITH POST	EA	19.00	\$45.00	\$855.00	\$60.00	\$1,140.00	(\$285.00)
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,197.00	\$4.00	\$4,788.00	\$4.00	\$4,788.00	\$0.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	5,755.00	\$0.55	\$3,165.25	\$1.50	\$8,632.50	(\$5,467.25)
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE	LF	8,630.00	\$1.75	\$15,102.50	\$2.50	\$21,575.00	(\$6,472.50)
632.1118	(REMOVABLE) 4" LINE PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	207.00	\$7.00	\$1,449.00	\$8.00	\$1,656.00	(\$207.00)
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	294.00	\$6.00	\$1,764.00	\$10.00	\$2,940.00	(\$1,176.00)

Friday, October 27, 2017 Page 11 of 12

632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	108.00	\$12.00	\$1,296.00	\$25.00	\$2,700.00	(\$1,404.00)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	230.00	\$4.00	\$920.00	\$1.00	\$230.00	\$690.00
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	1,796.00	\$1.00	\$1,796.00	\$3.00	\$5,388.00	(\$3,592.00)
647.1	HUMUS	CY	176.00	\$25.00	\$4,400.00	\$30.00	\$5,280.00	(\$880.00)
670.04501	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$12,000.00	\$12,000.00	\$3,720.00	\$3,720.00	\$8,280.00
670.04502	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$12,000.00	\$12,000.00	\$15,444.50	\$15,444.50	(\$3,444.50)
670.04503	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$2,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	6.00	\$3,500.00	\$21,000.00	\$2,400.00	\$14,400.00	\$6,600.00
692.	MOBILIZATION	U	1.00	\$125,000.00	\$125,000.00	\$129,000.00	\$129,000.00	(\$4,000.00)
698.13	FIELD OFFICE TYPE C	MON	10.00	\$1,600.00	\$16,000.00	\$1,500.00	\$15,000.00	\$1,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00

Total: \$1,777,558.15 \$1,759,395.10 \$18,163.05

Friday, October 27, 2017 Page 12 of 12